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QUESTION 1

-- Exhibit 

-- Exhibit -Click the Exhibit button. 

Referring to the exhibit, the RPT from R3 towards R2 is established. 

What happens if the multicast source connected to R1 starts sending multicast traffic towards R1? 

A. R1 encapsulates the multicast packets into a PIM register multicast packet. 

B. R1 encapsulates the multicast packets into PIM join unicast messages. 

C. R1 forwards the multicast packets on the (S,G) tree towards the RP. 

D. R1 tunnels the multicast packets in PIM register messages towards the RP. 

Correct Answer: D 

 

QUESTION 2

Referring to the exhibit, OSPF is being used as the IGP and Area 1 is a standard OSPF area. USER 1 is sending traffic
to server 1, which path will the traffic take? 
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A. R1>R2>R4>R6>R3 

B. R1>R2>R4>R6>R5>R3 

C. R1>R3 

D. R1>R4>R6>R3 

Correct Answer: B 

 

 

QUESTION 3

You are troubleshooting a problem on interface ge-0/0/3. 

Which command shows statistics in real time? 

A. show interfaces statistics 

B. monitor interface statistics ge-0/0/3 

C. monitor interface traffic 

D. monitor traffic interface ge-0/0/3 

Correct Answer: C 

 

QUESTION 4
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You are asked to establish a single EBGP peering across two physical interfaces to your ISP. Which BGP feature
should you use? 

A. multipath 

B. multihop 

C. accept-remote-nexthop 

D. allow 

Correct Answer: B 

 

QUESTION 5

-- Exhibit 

-- Exhibit -Click the Exhibit button. 

AS4 is using the default path to get to AS1. This path is not modified by any of the ASs shown in the exhibit. AS1 wants
to influence this path so that traffic from AS4 comes through AS3. 
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Where do you apply the policy shown in the exhibit? 

A. AS1 

B. AS2 

C. AS3 

D. AS4 

Correct Answer: A 
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